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ZOOLOGY

( General )

( CeII Blology, Gcnctlcs and Developnental
Btology I

F\ll Marlcs: 8O

Time : 3 hours

77rc figures in the margin indbate futl marles

for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=1O
uao ftqlr<Fq ftnlq{{lm tq{ A1I :

(a) What is the average cell cycle span for
a mammalian cell?

u{r'fl-t ffi< corq ebn qv efsar w{ ftqE 2

h) What is mesosome?

orq\\ ft r
(c) Who discovered Golgi bodies?

oHA q& c+rca qrfigr< TRRE ?

I
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(d) Defrne pleiotroPic gene'

ftstfrs&fficgtfit t

(e/ Both animal and plant cells have a
well-defrned cell wall.

( Write True or False )

$ft qr+ tfr{ 0-s{ 6{Ftcs csFrFFI {rfi-rt
q?F T.1? q?R6t qtrs I

( csl qltfl qr-s] fr'{r )

(fi Robert Brown discovered the cell.
( Write True or False )

T{t$tz{ c+nsrfr$<+fiRq t

( Ts, {it{r q{q fr'{ )

(g) Tlrre process, bY which eggs are
formed is called 

-.
( Fill in the blank )

&:$ cqro tqeftr- 6{16{ |

(qfftRTqq+ )

(h) lf the distance between the two genes,

decreases the possibility of linkage

( Fill in the blank )

rfr F eT{ rTw f+t 56q, 6F*t r€xsFr

)

( {ArR13qq.1 )

( Continued )8Alt62

ft,Ft{I

aN162
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/y' The coupling and repulsion theory
was proposed by

/ii Morgan and Castle

/iy' Bateson and Puneet

1izy' Morgan and Sutton

1iul Sutton and Meiser
( Choose the correct answer )

qqfti qr+ ft"paq asqr c{lr{ elir6{

afiQq2

f, T{qr qr+ c+z?c

l/i, r{frE{qTr "rreqb

/r4 11611 EIT Bt{

/,u,1 Rtq qT+ {kq{
(isqffir<tRGfrqsl )

(j) Tl:.e sex of the child is determined by

(l X-chromosome

/ii,l Y-chromosome

(ttt) the size of the sperm

(iu) the size of the ovum
( Choose the correct answer )

( Turn Ouer )
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(, x-@\\\
(i, Y-c\\\
lru, \36q{w{-q

6ul &a5qT{q

following questions very
2x 5:10

3. Write the differences between
following larry four) :

$-qE fr$ ft corcqr URBR "nf€ ft{r :

(a) Passive transPort and
transport

frRil qR-€{qFc&{'rft{s

@) Proka:ryotic and Eukaryotic cells

sr(TRzTaTqrr(rflrcffin mr
(c/ Rough and Smooth endoPlasmic

reticulum
{T{ qIT qIT{ qs:eKfin ErF{sl

(d/ Isolecithal and Telolecithal eggs

qRqtnFccrq cr+ 6qtaGe.m &?

/e/ Spermatogenesis and Oogenesis

\s@uqfi qr+&?sT{

/) X-chromosome and Y-chromosome

x-@\q\qrf Y-e'c\\

4. Answer the following questions :

Efi s$T{{G-s-<ftqt:

(a) (y' Describe the structure and
functions of Plasma membrane.

5+5=1O

GNrr{q-{ i'u'q qr +rffi <'f{ o{r I

the
5x4=2O

Active

10x4=40

2. Answer the
briefly:
E K ayclc{ v& qvc< fiv ,

(a) Wlnat is Go phase of cell cYcle?

mNE6Gor"[ft?

(b) Wl:,at is sex chromosome?

fiiq eYs\ Trs 61641

/c/ What do You mean bY sex-linked
inheritance?

fii{-rrqry <$ttG clz{'ft {qI ?

(d) What is bivalent?

1SS TFlt C<r6{ ?

(e) Define fertilization.

ftcqu-+<xelfr<r t
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(b) (t)

(ii)

or/all4l

(ii) List the main differences between
mitosis and meiosis. Why is
meiosis called reduction
division? 8+2= 16

cRt'ffq qrc ftqts csn Rqqffi
{ls{ s{r{ ffffrc{cfr'{r tfr.s"Gs c{N
Rqw-q6ry**frsmq c<ne,

or/ql&t

fiy' What do you mean by giant
chromosome? Describe lamp-
brush chromosome with suitable
diagram. 2+8= 10

Tcq 4\,s\ <'r{i 6ra{? G'ttr fi-qr
{qI{E 6-eBrrq @\\\ <f+t q{ I

(d) (y' Write arr account on formation of
extra embryonic membranes in
mammal. 10

udl'flfr flft{ qBR-ee;rEr"t ${ 6{IaT

s&nrRrrs qh 6rqft'+r r

or/fliE<t

/iy' What is linkage? Describe
complete and incomplete
linkages with suitable examples.

2+8=10

{*rflEr sFr c{EE? sci{G Bn{{(I(,
tc.F {-tf qr qc'-1.f aqqre-r 1f{r
Ti{T I

What is mutation? Describe
harmful and benelicial effects of
mutation. 4+6= 16
Gq"rfuq' ftr bqtfu{-{ qffffi
qf+ b'r$fr c-spfrqTq f.F{ Tql I

or/qftll

Describe the mechanism of sex-
Iinked inheritance in human. lO
lr1<< ftq-qcqx rsrrrftr sfr$ Tf{t
T<T I

(c) (i) What do you mean by organizer?
Explain organizer with suitable
examples. 2+g= 10
ciqts {rc{ ft TeTz E11e tEr<rqe<
?c-cs cisl'rs< <il?rfl 1r<T I
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